

Lau	Lauderdale								1000	MYA Price ection			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/2 MYA Pri Projectio	for Min Payment	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	50.83	\$4.95	\$251.61	\$216.38	\$25.16	\$5.15	42.01	37.13	50.83	\$4.26	\$3.76
Canola	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Corn	Bushel	All	181.76	\$3.70	\$672.51	\$578.36	\$67.25	\$5.45	106.12	93.78	181.76	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Corn	Bushel	Nonirrigated	_	_	_	-	_	\$5.45	_	_	_	_	_
Grain Sorghum	Bushel	All	60.33	\$3.95	\$238.30	\$204.94	\$23.83	\$5.45	37.60	33.23	60.33	\$3.40	\$3.00
Oats	Bushel	All	44.00	\$2.67	\$117.48	\$101.03	\$11.75	\$4.00	25.26	22.32	44.00	\$2.30	\$2.03
Peanuts	Pound	All	-	· -	· -	· -	· -	\$0.24	-	-	-	-	· -
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,758.75	\$0.37	\$1,012.46	\$870.72	\$101.25	\$0.46	1,889.56	1,669.86	2,758.75	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	42.69	\$9.12	\$389.33	\$334.82	\$38.93	\$13.00	25.75	22.76	42.69	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	77.26	\$5.50	\$424.93	\$365.44	\$42.49	\$7.30	50.06	44.24	77.26	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



Lav	Lawrence									MYA Price ection			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	45.50	\$4.95	\$225.23	\$193.70	\$22.52	\$5.15	37.61	33.24	45.50	\$4.26	\$3.76
Canola	Pound	All	1,473.00	\$0.20	\$225.23	\$255.26	\$22.52	\$0.32	797.66	704.94	1,473.00	\$0.17	\$0.15
	Bushel	All	1,473.00	\$0.20	\$290.61	\$255.20	\$29.08	\$0.32 \$5.45	/97.00	704.94	1,473.00	\$0.17	\$0.15
Corn			- 220.35	- 62.70	- 6015 30	- 6701.16	- \$81.53		120.05	113.69	220.25	- \$3.18	- \$2.81
Corn	Bushel	Irrigated	220.35 177.16	\$3.70 \$3.70	\$815.30 \$655.49	\$701.16 \$563.72	\$65.55	\$5.45 \$5.45	128.65 103.43	91.41	220.35 177.16	\$3.18 \$3.18	\$2.81
Corn	Bushel Bushel	Nonirrigated All	_	'	,	,				28.57	-	\$3.18 \$3.40	
Grain Sorghum	Bushel	All	51.87 43.33	\$3.95	\$204.89	\$176.21 \$99.49	\$20.49	\$5.45 \$4.00	32.33 24.87		51.87 43.33		\$3.00 \$2.03
Oats Peanuts	Pound	All	45.55	\$2.67	\$115.69	\$99.49	\$11.57	\$4.00 \$0.24	24.67	21.98	45.55	\$2.30	\$2.03
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24 \$0.24	_	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24 \$0.24	_	-	-	-	-
Seed Cotton	Pound	All	2,586.53	\$0.37	- \$949.26	\$816.36	\$94.93	\$0.24 \$0.46	1,771.59	1,565.60	2.586.53	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	2,560.55	\$0.57	\$949.20	\$610.50	Ş94.93	\$0.46 \$0.46	1,771.59	1,565.60	2,360.33	\$0.32	\$0.28
Seed Cotton	Pound	Nonirrigated	_	_	_	_	_	\$0.46	_	_	_	-	_
Soybeans	Bushel	All	_	_	_		_	\$13.00		_	_	_	_
Soybeans	Bushel	Irrigated	57.34	\$9.12	\$522.94	\$449.73	\$52.29	\$13.00	34.59	30.57	57.34	\$7.84	\$6.93
Soybeans	Bushel	Nonirrigated	41.24	\$9.12	\$376.11	\$323.45	\$37.61	\$13.00	24.88	21.99	41.24	\$7.84	\$6.93
Sunflower Seed	Pound	All	1.101.00	\$0.20	\$221.85	\$190.79	\$22.19	\$13.00	601.83	531.86	1,101.00	\$0.17	\$0.35
Wheat	Bushel	All	74.31	\$5.50	\$408.71	\$351.49	\$40.87	\$7.30	48.15	42.55	74.31	\$4.73	\$4.18
Wheat	Bushel	Irrigated	,51			-		\$7.30		12.55	,51	ψ/ S	,10
Wheat	Bushel	Nonirrigated	_	_	_	_	_	\$7.30	_	_	_	-	_

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



	Lee									MYA Price ection		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	-	-	-	\$5.15	_	-	-	-	_
Canola	Pound	All	_	-	_	_	_	\$0.32	_	-	-	-	-
Corn	Bushel	All	120.90	\$3.70	\$447.33	\$384.70	\$44.73	\$5.45	70.59	62.38	120.90	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	_	-	-	-	-
Grain Sorghum	Bushel	All	46.53	\$3.95	\$183.79	\$158.06	\$18.38	\$5.45	29.00	25.63	46.53	\$3.40	\$3.00
Oats	Bushel	All	52.07	\$2.67	\$139.03	\$119.57	\$13.90	\$4.00	29.89	26.42	52.07	\$2.30	\$2.03
Peanuts	Pound	All	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	1,885.71	\$0.37	\$692.06	\$595.17	\$69.21	\$0.46	1,291.58	1,141.41	1,885.71	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	33.97	\$9.12	\$309.81	\$266.44	\$30.98	\$13.00	20.49	18.11	33.97	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	44.87	\$5.50	\$246.79	\$212.24	\$24.68	\$7.30	29.07	25.69	44.87	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



Lim	Limestone									MYA Price ection			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	45.20	\$4.95	\$223.74	\$192.42	\$22.37	\$5.15	37.36	33.02	45.20	\$4.26	\$3.76
Canola	Pound	All	2,209.33	\$0.20	\$445.18	\$382.85	\$44.52	\$0.32	1,196.38	1,057.28	2,209.33	\$0.17	\$0.15
Corn	Bushel	All	2,209.33	30.20	3443.10	330Z.03	344.32	\$5.45	1,190.36	1,057.26	2,209.33	ŞU.17	Ş0.15
Corn	Bushel	Irrigated	236.08	\$3.70	- \$873.50	- \$751.21	- \$87.35	\$5.45 \$5.45	137.83	121.81	236.08	- \$3.18	52.81
Corn	Bushel	Nonirrigated	175.32	\$3.70	\$648.68	\$557.86	\$67.33 \$64.87	\$5.45 \$5.45	102.36	90.46	175.32	\$3.18 \$3.18	\$2.81
Grain Sorghum	Bushel	All	55.27	\$3.70 \$3.95	\$048.08	\$337.86	\$04.87	\$5.45 \$5.45	34.45	30.45	55.27	\$3.16 \$3.40	\$3.00
Oats	Bushel	All	44.33	\$2.67	\$118.36	\$101.79	\$11.84	\$4.00	25.45	22.49	44.33	\$2.30	\$3.00
Peanuts	Pound	All	44.55	, 32.07 -	\$110.50	\$101.75	\$11.04	\$0.24	25.45		44.55	\$2.5U	\$2.05
Peanuts	Pound	Irrigated	_	_	_	_	_	\$0.24	_	_	-	-	_
Peanuts	Pound	Nonirrigated	_	_	_	_	-	\$0.24	-	-	-	_	-
Seed Cotton	Pound	All	_	_	_		_	\$0.24		_	_	_	_
Seed Cotton	Pound	Irrigated	3,477.53	\$0.37	\$1,276.25	\$1,097.58	\$127.63	\$0.46	2,381.88	2,104.93	3,477.53	\$0.32	\$0.28
Seed Cotton	Pound	Nonirrigated	2.729.46	\$0.37	\$1,001.71	\$861.47	\$100.17	\$0.46	1.869.49	1,652.13	2.729.46	\$0.32	\$0.28
Soybeans	Bushel	All	_,,,,,		-	-	-	\$13.00			_,, _5. 10	-	-
Soybeans	Bushel	Irrigated	64.13	\$9.12	\$584.87	\$502.99	\$58.49	\$13.00	38.69	34.19	64.13	\$7.84	\$6.93
Soybeans	Bushel	Nonirrigated	39.91	\$9.12	\$363.98	\$313.02	\$36.40	\$13.00	24.08	21.28	39.91	\$7.84	\$6.93
Sunflower Seed	Pound	All	1.101.00	\$0.20	\$221.85	\$190.79	\$22.19	\$0.32	601.83	531.86	1,101.00	\$0.17	\$0.15
Wheat	Bushel	All	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Irrigated	86.14	\$5.50	\$473.77	\$407.44	\$47.38	\$7.30	55.81	49.32	86.14	\$4.73	\$4.18
Wheat	Bushel	Nonirrigated	75.31	\$5.50	\$414.21	\$356.22	\$41.42	\$7.30	48.80	43.12	75.31	\$4.73	\$4.18

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



Lo	wnde	S							1.000	MYA Price ection		Assumes C Assun	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$5.15	_	_	-	_	_
Canola	Pound	All	_	_	_	-	_	\$0.32	_	_	-	_	_
Corn	Bushel	All	140.79	\$3.70	\$520.92	\$447.99	\$52.09	\$5.45	82.20	72.64	140.79	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Corn	Bushel	Nonirrigated	_	_	-	-	_	\$5.45	_	_	-	-	-
Grain Sorghum	Bushel	All	-	-	-	-	-	\$5.45	_	-	-	-	-
Oats	Bushel	All	50.00	\$2.67	\$133.50	\$114.81	\$13.35	\$4.00	28.70	25.37	50.00	\$2.30	\$2.03
Peanuts	Pound	All	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,114.46	\$0.37	\$776.01	\$667.37	\$77.60	\$0.46	1,448.26	1,279.88	2,114.46	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	31.24	\$9.12	\$284.91	\$245.02	\$28.49	\$13.00	18.85	16.66	31.24	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	43.67	\$5.50	\$240.19	\$206.56	\$24.02	\$7.30	28.29	25.01	43.67	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



IV	Macon									MYA Price		Assumes C Assun	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	-	-	-	\$5.15	_	_	-	-	_
Canola	Pound	All	_	-	_	_	_	\$0.32	_	_	-	_	-
Corn	Bushel	All	167.17	\$3.70	\$618.53	\$531.94	\$61.85	\$5.45	97.60	86.26	167.17	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	_	_	-	-	-
Grain Sorghum	Bushel	All	40.20	\$3.95	\$158.79	\$136.56	\$15.88	\$5.45	25.06	22.14	40.20	\$3.40	\$3.00
Oats	Bushel	All	52.60	\$2.67	\$140.44	\$120.78	\$14.04	\$4.00	30.19	26.69	52.60	\$2.30	\$2.03
Peanuts	Pound	All	2,773.64	\$0.27	\$741.95	\$638.08	\$74.20	\$0.24	2,686.61	2,374.23	2,773.64	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,034.32	\$0.37	\$746.60	\$642.08	\$74.66	\$0.46	1,393.38	1,231.38	2,034.32	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	34.38	\$9.12	\$313.55	\$269.65	\$31.36	\$13.00	20.74	18.33	34.38	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	42.37	\$5.50	\$233.04	\$200.41	\$23.30	\$7.30	27.45	24.26	42.37	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



Ma	Madison									MYA Price		Assumes Co Assum	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$5.15	_	_	_	_	_
Canola	Pound	All	1,495.00	\$0.20	\$301.24	\$259.07	\$30.12	\$0.32	809.56	715.47	1,495.00	\$0.17	\$0.15
Corn	Bushel	All	-	-	-	-	-	\$5.45	-	-	-	-	-
Corn	Bushel	Irrigated	237.53	\$3.70	\$878.86	\$755.82	\$87.89	\$5.45	138.68	122.56	237.53	\$3.18	\$2.81
Corn	Bushel	Nonirrigated	173.23	\$3.70	\$640.95	\$551.22	\$64.10	\$5.45	101.14	89.38	173.23	\$3.18	\$2.81
Grain Sorghum	Bushel	All	50.87	\$3.95	\$200.94	\$172.81	\$20.09	\$5.45	31.71	28.02	50.87	\$3.40	\$3.00
Oats	Bushel	All	44.33	\$2.67	\$118.36	\$101.79	\$11.84	\$4.00	25.45	22.49	44.33	\$2.30	\$2.03
Peanuts	Pound	All	-	· -	· -	· -	· -	\$0.24	_	-	-	-	· -
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Irrigated	3,520.51	\$0.37	\$1,292.03	\$1,111.15	\$129.20	\$0.46	2,411.33	2,130.97	3,520.51	\$0.32	\$0.28
Seed Cotton	Pound	Nonirrigated	2,516.82	\$0.37	\$923.67	\$794.36	\$92.37	\$0.46	1,723.85	1,523.42	2,516.82	\$0.32	\$0.28
Soybeans	Bushel	All	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Irrigated	58.41	\$9.12	\$532.70	\$458.12	\$53.27	\$13.00	35.24	31.14	58.41	\$7.84	\$6.93
Soybeans	Bushel	Nonirrigated	41.12	\$9.12	\$375.01	\$322.51	\$37.50	\$13.00	24.81	21.92	41.12	\$7.84	\$6.93
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	75.84	\$5.50	\$417.12	\$358.72	\$41.71	\$7.30	49.14	43.43	75.84	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



Ma	Marengo									MYA Price		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	-	_	-	\$5.15	_	-	-	-	-
Canola	Pound	All	-	-	_	_	_	\$0.32	_	-	-	-	_
Corn	Bushel	All	122.56	\$3.70	\$453.47	\$389.98	\$45.35	\$5.45	71.55	63.23	122.56	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	_	\$5.45	_	-	-	_	-
Grain Sorghum	Bushel	All	-	-	-	-	-	\$5.45	-	-	-	-	-
Oats	Bushel	All	-	-	-	-	-	\$4.00	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	1,749.97	\$0.37	\$642.24	\$552.33	\$64.22	\$0.46	1,198.61	1,059.27	1,749.97	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	18.61	\$9.12	\$169.72	\$145.96	\$16.97	\$13.00	11.23	9.92	18.61	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



M	Marion									MYA Price		Assumes C Assun	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	-	-	_	\$5.15	_	_	-	-	-
Canola	Pound	All	_	-	_	_	_	\$0.32	_	_	-	_	_
Corn	Bushel	All	160.62	\$3.70	\$594.29	\$511.09	\$59.43	\$5.45	93.78	82.87	160.62	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	_	-	_	-	\$5.45	_	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	-	_	-	-	-
Grain Sorghum	Bushel	All	47.53	\$3.95	\$187.74	\$161.46	\$18.77	\$5.45	29.62	26.18	47.53	\$3.40	\$3.00
Oats	Bushel	All	-	-	-	-	-	\$4.00	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,454.55	\$0.37	\$900.82	\$774.71	\$90.08	\$0.46	1,681.21	1,485.74	2,454.55	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	43.40	\$9.12	\$395.81	\$340.40	\$39.58	\$13.00	26.18	23.14	43.40	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	1,101.00	\$0.20	\$221.85	\$190.79	\$22.19	\$0.32	601.83	531.86	1,101.00	\$0.17	\$0.15
Wheat	Bushel	All	57.60	\$5.50	\$316.80	\$272.45	\$31.68	\$7.30	37.32	32.98	57.60	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



Ma	Marshall									MYA Price		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	45.50	\$4.95	\$225.23	\$193.70	\$22.52	\$5.15	37.61	33.24	45.50	\$4.26	\$3.76
Canola	Pound	All	-	- ·	-	-	-	\$0.32		-	-	- ·	-
Corn	Bushel	All	160.30	\$3.70	\$593.11	\$510.07	\$59.31	\$5.45	93.59	82.71	160.30	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Corn	Bushel	Nonirrigated	_	-	-	-	_	\$5.45	_	-	-	_	_
Grain Sorghum	Bushel	All	42.27	\$3.95	\$166.97	\$143.59	\$16.70	\$5.45	26.34	23.28	42.27	\$3.40	\$3.00
Oats	Bushel	All	57.20	\$2.67	\$152.72	\$131.34	\$15.27	\$4.00	32.83	29.02	57.20	\$2.30	\$2.03
Peanuts	Pound	All	-		· -	· -	-	\$0.24	-	-	-	-	· -
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,701.06	\$0.37	\$991.29	\$852.51	\$99.13	\$0.46	1,850.04	1,634.94	2,701.06	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	40.50	\$9.12	\$369.36	\$317.65	\$36.94	\$13.00	24.43	21.59	40.50	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	71.35	\$5.50	\$392.43	\$337.49	\$39.24	\$7.30	46.23	40.86	71.35	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



M	Mobile									MYA Price		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	-	-	-	\$5.15	_	-	-	-	_
Canola	Pound	All	-	-	-	_	_	\$0.32	_	-	-	-	-
Corn	Bushel	All	127.48	\$3.70	\$471.68	\$405.64	\$47.17	\$5.45	74.43	65.77	127.48	\$3.18	\$2.81
Corn	Bushel	Irrigated	_	-	_	-	' <u>-</u>	\$5.45	-	-	_	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Grain Sorghum	Bushel	All	44.67	\$3.95	\$176.45	\$151.75	\$17.65	\$5.45	27.84	24.61	44.67	\$3.40	\$3.00
Oats	Bushel	All	-	-	-	-	-	\$4.00	-	-	-	-	-
Peanuts	Pound	All	3,991.40	\$0.27	\$1,067.70	\$918.22	\$106.77	\$0.24	3,866.15	3,416.63	3,991.40	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,190.08	\$0.37	\$803.76	\$691.23	\$80.38	\$0.46	1,500.04	1,325.63	2,190.08	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	39.67	\$9.12	\$361.79	\$311.14	\$36.18	\$13.00	23.93	21.15	39.67	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	1	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



М	Monroe									MYA Price		Assumes Co Assum	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	-	-	-	\$5.15	_	_	-	-	_
Canola	Pound	All	-	_	-	-	-	\$0.32	_	_	_	_	_
Corn	Bushel	All	141.77	\$3.70	\$524.55	\$451.11	\$52.46	\$5.45	82.77	73.15	141.77	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Grain Sorghum	Bushel	All	-	-	-	-	-	\$5.45	-	-	-	-	-
Oats	Bushel	All	49.93	\$2.67	\$133.31	\$114.65	\$13.33	\$4.00	28.66	25.33	49.93	\$2.30	\$2.03
Peanuts	Pound	All	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	4,698.71	\$0.27	\$1,256.90	\$1,080.93	\$125.69	\$0.24	4,551.24	4,022.06	4,698.71	\$0.23	\$0.20
Peanuts	Pound	Nonirrigated	4,452.37	\$0.27	\$1,191.01	\$1,024.27	\$119.10	\$0.24	4,312.67	3,811.24	4,452.37	\$0.23	\$0.20
Seed Cotton	Pound	All	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,560.31	\$0.37	\$939.63	\$808.08	\$93.96	\$0.46	1,753.62	1,549.74	2,560.31	\$0.32	\$0.28
Seed Cotton	Pound	Nonirrigated	2,155.09	\$0.37	\$790.92	\$680.19	\$79.09	\$0.46	1,476.09	1,304.47	2,155.09	\$0.32	\$0.28
Soybeans	Bushel	All	37.98	\$9.12	\$346.38	\$297.89	\$34.64	\$13.00	22.91	20.25	37.98	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	53.00	\$5.50	\$291.50	\$250.69	\$29.15	\$7.30	34.34	30.35	53.00	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	1	-	-	-	-	\$7.30	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



Mon	ery								Assumes MYA Price Projection				Assumes County Yield Assumption		
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre		2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/		2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	45.50	\$4.95	\$225.23	\$193.70	\$22.52		\$5.15	37.61	33.24		45.50	\$4.26	\$3.76
Canola	Pound	All	-	-	-	-	-		\$0.32	_	-		-	-	-
Corn	Bushel	All	143.49	\$3.70	\$530.91	\$456.58	\$53.09		\$5.45	83.77	74.03		143.49	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-		\$5.45	-	-		-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-		\$5.45	-	-		-	-	-
Grain Sorghum	Bushel	All	40.33	\$3.95	\$159.30	\$137.00	\$15.93		\$5.45	25.14	22.21		40.33	\$3.40	\$3.00
Oats	Bushel	All	45.33	\$2.67	\$121.03	\$104.09	\$12.10		\$4.00	26.02	23.00		45.33	\$2.30	\$2.03
Peanuts	Pound	All	-	-	-	-	-		\$0.24	-	-		-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-		\$0.24	-	-		-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-		\$0.24	-	-		-	-	-
Seed Cotton	Pound	All	2,060.14	\$0.37	\$756.07	\$650.22	\$75.61		\$0.46	1,411.05	1,246.98		2,060.14	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-		\$0.46	-	-		-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-		\$0.46	-	-		-	-	-
Soybeans	Bushel	All	30.97	\$9.12	\$282.45	\$242.91	\$28.25		\$13.00	18.68	16.51		30.97	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-		\$13.00	-	-		-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-		\$13.00	-	-		-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-		\$0.32	-	-		-	-	-
Wheat	Bushel	All	43.43	\$5.50	\$238.87	\$205.43	\$23.89		\$7.30	28.14	24.87		43.43	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-		\$7.30	-	-		-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-		\$7.30	-	-		-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields



М	organ									Assumes MYA Price Projection				Assumes County Yield Assumption	
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre		2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/		2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	45.50	\$4.95	\$225.23	\$193.70	\$22.52		\$5.15	37.61	33.24		45.50	\$4.26	\$3.76
Canola	Pound	All	1,483.00	\$0.20	\$298.82	\$256.99	\$29.88		\$0.32	803.06	709.72		1,483.00	\$0.17	\$0.15
Corn	Bushel	All	166.55	\$3.70	\$616.24	\$529.97	\$61.62		\$5.45	97.24	85.94		166.55	\$3.18	\$2.81
Corn	Bushel	Irrigated	-		- 7010.24	-	- 701.02		\$5.45	- 37.24	-		-	-	γ2.01 -
Corn	Bushel	Nonirrigated	_	_	_	_	_		\$5.45	_	_		_	_	_
Grain Sorghum	Bushel	All	47.67	\$3.95	\$188.30	\$161.94	\$18.83		\$5.45	29.71	26.26		47.67	\$3.40	\$3.00
Oats	Bushel	All	43.33	\$2.67	\$115.69	\$99.49	\$11.57		\$4.00	24.87	21.98		43.33	\$2.30	\$2.03
Peanuts	Pound	All	-		-	-			\$0.24	_	_		-	-	_
Peanuts	Pound	Irrigated	-	-	-	-	-		\$0.24	_	-		-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-		\$0.24	_	-		-	-	-
Seed Cotton	Pound	All	2,231.18	\$0.37	\$818.84	\$704.20	\$81.88		\$0.46	1,528.19	1,350.52		2,231.18	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-		\$0.46	-	-		-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-		\$0.46	-	-		-	-	-
Soybeans	Bushel	All	40.44	\$9.12	\$368.81	\$317.18	\$36.88		\$13.00	24.40	21.56		40.44	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-		\$13.00	-	-		-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-		\$13.00	-	-		-	-	-
Sunflower Seed	Pound	All	1,101.00	\$0.20	\$221.85	\$190.79	\$22.19		\$0.32	601.83	531.86		1,101.00	\$0.17	\$0.15
Wheat	Bushel	All	75.06	\$5.50	\$412.83	\$355.03	\$41.28		\$7.30	48.63	42.98		75.06	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-		\$7.30	-	-		-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-		\$7.30	-	-		-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2016-2020 county yields